3

3 Port Solenoid Valve
Rubber Seal

E3 1 Series VZ100/300/500

Series Variations
Series Port size Sonic Voltage Electrical entry ~ With light/surge Manual
conductance voltage suppressor  override
C [dm?/(s-bar)] (Option)
VZ100 For N.C.
P— A:0.11
A—R:0.19
*Non-locking
\‘;., s M5 x 0.8 push type
= For N.O.
| R— A:0.19
A— P:0.13
* Grommet (G)
O
g VZ300
]
S
O 0.66
(a ’ M5 x 0.8 [ 2.3 ]
- (A—R)
= 8
e * L plug
o
11]
(Standard)
100 VAC 50/60 Hz e With surge
VZ500 200 VAC 50/60 Hz voltage
24 \VDC suppressor
() 0
25 N.C (Option) o
¥ e . * With light/
= 1/8 2—3 N O 24 VAC 50/60 HZ M plug surge Vg]ta e
e 48 VAC 50/60 Hz suppressor
110 VAC 50/60 Hz (E) (M) *Non-locking
220 VAC 50/60 Hz 0 push type
6VDC
12VDC *Locking
48VDC type
(Slotted)
VZ300 "D
terminal (D)
*Locking
— type
- 1 1.2 (Manual)
y o » 8 ( 253 ]
Q (A—>R)
e !
c I
=
=
Q
)
©
m 27
Ve, Va ( 2-3 ]
(A—R)

O
:




Series VZ100/300/500

Manifold Variations

A port size
) A port P/R port One-touch fitting
Valve series lesEiian e M5 /5 Applicable tubing O.D.
o4 26 28 |0%32" | 1/4" |2 5/46"
M5 x 0.8 o — — — — — — —
VZ100 Top

Ve o | — |- |- |=-|=]=]=
O
Q
et
o
o vZ300 Top 8 ® — — — _ _ _ _
>
©
O
m e — |@N® _ o . - . .

VZ500 Top

a e | == =] ===
g Bottom [ J [ J — — — — — —
c VZ300 18
3 Side o o o | 0o — (0| 0| —
% 1 /8 _ .Note) _ _ _ — — —
0 Bottom 1
< VZ500 /4 — ) — — — _ _ _
m Side Va | — | @] — | e | e | — | e | @
Q Note) Internal pilot

Series VZ100

Series VZ300 Series VZ500

4-6-2

o
5



Series VZ100/300/500

A\ Precautions

rsl

Manual Override Operation

/A Warning

* Manual override is available in 2 types, non-locking push type and
locking type.
(Locking type is for VZ300/500 only.)

B Non-locking push type must be pressed in the direction of
the arrow.

B: Locking type B C: Locking type C
(Slotted)

Nil: Non-locking type
(Manual)

When operating the locking type manually, apply torque of 0.2 N-m or
less.

During manual operation, the equipment that is connected will operate.
Therefore, make sure there are no hazardous conditions before operation.

Light/Surge Voltage Suppressor

A\ Caution
Grommet Type

With indicator light (AC)

Neon bulb \

With indicator light (DC)

(+lo—r—5 _
“| 6
2O

(—)o—

Coil

In the case of DC wiring, be sure to connect in line with the polarity
indication (positive [+]/negative [-]) on the connector. When the lead wire
is pre-wired, positive [+] is red and negative [] is black respectively.

O

e- sure to read before handling. For Safety Instructions and Solenoid Valve Precautions, refer to page 4-18-2.

DIN Terminal Type

Coil

Marking * With indicator light (AC)
(Built-in o
connector) Neon b@ 3
410
Surge voltage Ha2 -
suppressor

. ) (Built-in With indicator light (DC)
* Markings terminal block) Not oz
AC DC oy gﬁ.fzé
1 2 yr = L
— ) L -3 i a
& TS 3

In the case of DC wiring, connect terminal no.1 of the connector to the
positive [+] side, and terminal no. 2 to the negative [-] side. (Refer to the
markings on the terminal block.)

Common Exhaust Type for Main and Pilot

VZ30;M,VZ5035M

Exhaust air from the pilot valve will flow to the main valve exhaust port.

* For use in an environment in which exhaust from the pilot valve is
undesirable.

* For use when the intrusion of dust from the surroundings must be
prevented. Also, make sure the piping will not restrict the flow from the
exhaust port.

How to Use Plug Connector

Attaching and detaching connectors

1. To attach a connector, hold the lever and connector unit between your
fingers and insert straight onto the pins of the solenoid valve so that the
lever’s pawl is pushed into the groove and locks.

2. To detach a connector, remove the pawl from the groove by pushing the
lever downward with your thumb, and pull the connector straight out.

Molded coil

Pin DC polarity
indicator

Lever

Type L
DC coil: + Red, — Black

Black .
Lead wire

Connector Red

Socket part no. DXT170-71-1

Cover

Crimping of lead wires and sockets

Peel 3.2 to 3.7 mm of the tip of lead wire, enter the core wires neatly into a
socket and crimp it with a special crimp tool. Be careful so that the cover
of lead wire does not enter into the crimping area.

(For special crimping tool, please contact SMC.)

Core wire Core wire
crimping area  , Crimping
Terminal ~/ area Lead wire
0.2 to 0.33 mm?
Hook Insulation (Max. cover dia.:)
21.7 mm

4-6-3

V100
SY
SYJ

o
Vo
w
s
Vo
VKF
3
vz
Vs
VN




Series VZ100/300/500

Attaching and Detaching Lead Wires with Sockets
A\ Caution

1. Attaching
Insert the sockets into the square holes of the connector (with + and —
indication) and, continue to push the sockets all the way in until the
lock by hooking into the seats in the connector. (When they are pushed
in, their hooks open and they are locked automatically.) Then confirm
that they are locked by pulling lightly on the lead wires.

2. Detaching
To detach a socket from a connector, pull out the lead wire while
pressing the socket’s hook with a stick having a thin tip (approx. 1 mm).
If the socket will be used again, first spread the hook outward.

ﬁ Connector

Lead wire

2
Socket
Hook
How to Use DIN Terminal
Connection
1. Loosen the set screw and pull out the connector from the terminal block

of the solenoid.

2. Pull out screw and insert a screwdriver to the slit area near the bottom
of terminal block to separate block and housing.

3. Loosen the terminal screws (slotted screws) on the terminal block,
insert the core of the lead wire into the terminal in accordance with the
prescribed connection method, and attach securely with the terminal
screws.

4. Tighten the ground nut to secure the wire.

Change of electrical entry (Orientation)

After separating terminal block and housing, the cord entry direction

can be changed by attaching the housing in the desired direction (4

directions in 90° increments).

= In the case of w/ indicator light, avoid damaging the indicator light with
lead wire.

Precautions
Plug a connector in or out vertically, never at an angle.

Applicable cable
0.D.:93.5t0 07
(Reference) 0.5 mm2 2 core and 3 core wires equivalent to JIS C 3306.

) Qround nut Holding screw
tightening torque tightening torque
1.651t0 2.5 N-m 0.3t0 0.4 N-m

Washer |
Grommet /@ .
(Rubber) Housing

(Position for

Voltage symbol
( 98 ¥ ) light mounting)

Refer to the table below.
Terminal block
Slot area

Terminal screw
(3 locations)

Tightening torque
0.210 0.25 N-m

DIN Terminal Part No.

Plug Connector Lead Wire Length

Standard length is 300 mm, but the following lengths are also available.
|How to Order Connector Assembly |

DXT170-80- | A-

Lead wire color ¢

{Lead wire length

Lead wire i
Symbol |~ ith socket Note Symbol| 162 ‘e engh
. Socket only Without Nil 300
Nil (2 pcs.) lead wire 6 | 600
1 Blue (2) | For 100 VAC 10 | 1000
2 Red (2) | For 200 VAC 15 | 1500
3 Gray (2) Another VAC 20 | 2000
4 | Red:+ Black—| ForDC 25 | 2500
How to Order 80 | 3000

Include the connector assembly part number together
with the part number for the plug connector’s solenoid
valve without connector.

(Example) 2000 mm lead wire length. VZ312-5M0-M5:--+----- 2 pcs.

DXT170-80-4A-20-----2 pcs.

Connector Assembly with Protective Cover

Connector assembly with protective cover enhances dust

protection.

« Effective to prevent short circuit accidents due to penetration of foreign
matter into the connector section.

* The material of cover is chloroprene rubber for electricity which is
excellent in weathering and electrical insulating properties. But don’t
splash with cutting oil.

¢ Simple and unencumbered appearance by adopting round-shaped cord.

|How to Order

DXT170-123—- A -

{Lead wire length

Symbol|Lead wire length Lmm  Symbol |Lead wire length L mm
Nil 300 20 2000
6 600 25 2500
10 1000 30 3000
15 1500
Dimensions: Connector Assembly with Cover
©|5 (32.5) Polarity indicator
@(© Red Black Black 8
[EE:
— 71 Al
[l ? —
o ——
(11),[, 13 17
L

|How to Order Solenoid Assembly

DXT170CH5|L

R: Resistor LED: Emitting diode

2 — - Light/Surge
Without indicator light DXT170-176-1 i 1
- - - | Applicable model voltage suppressor
With Indicator Light A For VZ110 Nil None
Rated voltage Voltage symbol Part no. C |For Series VZ300/500 Z* | With light/surge voltage suppressor
100 VAC 100V DXT170-176-2-01 E For VZ120 S | With surge voltage suppressor
200 VAC 200V DXT170-176-2-02 _ + Indicator light is not available for
110 VAC 110V DXT170-176-2-03 Coil rated voltage grommet type.
220 VAC 220V DXT170-176-2-04 1 100 VAC, 50/60 Hz Electrical entry
242 xADC(:) 2(;?[;/ g;ﬂ;gl;g'g'g: 2 200 VAC, 50/60 Hz G | Grommet (Lead wire: 300 mm)
wLEh 3* 110 VAC, 50/60 Hz H | Grommet (Lead wire: 600 mm)
12VDC 12VD DXT170-176-3-06 4 250 VAC. 50/60 Hz . -
24VDC 24VD DXT170-176-3-05 - YEVETeY L g [Withleadwire
48VDC 48VD DXT170-176-3-53 . AN | connector [Without lead wire
. i ) ] 6 12 VDC LO Without connector
Connector with Light Circuit 9* Other Mo With lead wire
= - « Opti plug - ;
AC circuit diagram DC circuit diagram * Option MN | onector [Without lead wire
= MO Without connector
D DIN With connector
H NL: Neon bulb D: Protective diode DO | terminal |without connector
&b
R

R: Resistor

4-6-4

O

How to Calculate the Flow Rate
For obtaining the flow rate, refer to page 4-1-6.

SVC



For details about certified products
( € conforming to international standards,
visit us at www.smcworld.com.

3 Port Solenoid Valve
Rubber Seal, Body Ported

Series

VZ10

How to Order

N
o

O

)
QJG}}Q
O
Q0
@ & Q)\\O\
() ©) 2

Type of actuation

Normally closed
Y
2

oY
TIT

3 1
RY(P)
Normally open
(/2\)

| M/
T

31
(R)(P)

N

Regarding VZ120, R port
is a supply port.

l Option
F: With foot bracket

Note) Bracket is not
mounted.

Port size
M5] M5x0.8

Light/Surge voltage suppressor

V100
SY
SYJ

Nil None
Z* |With light/surge voltage suppressor
S With surge voltage suppressor

Q * Not available for “GZ”, “HZ” and “DOZ”

Electrical entry

o
Vo
w
s
Vo
VKF
3
vz
Vs

Grommet | L plug connector M plug connector DIN terminal
G: Lead wire | L: With lead wire | M: With lead  MN: Without D: With connector
length (Length 300 mm) wire (Length lead wire
300 mm 300 mm)

Rated voltage
1 100 VAC, 50/60 Hz
200 VAC, 50/60 Hz
3* 110 VAC, 50/60 Hz
4* 220 VAC, 50/60 Hz
5 24 VDC
6" 12 VDC
9* Other
+ Option

H: Lead wire | LN: Without LO: Without MO: Without | DO: Without
length lead wire connector connector connector
600 mm

Q = “LN”, “MN” type: With 2 sockets.

4-6-5

O
:

VFN



Series VZ100

Low power consumption:
1.8WDC

Applicable for vacuum use
-100 kPa

For manifold use, refer to the pages 4-6-8 to 4-6-
11.

Specifications
Fluid Air
Operating pressure range Refer to the table below.
Ambient and fluid temperature (°C) —10 to 50 (No freezing. Refer to page 4-18-4.)
Response time (ms) () 15 or less
Max. operating frequency (Hz) 15
Flow Characteristics Refer to the table below.
Manual override Non-locking push type
Lubrication Not required

Mounting orientation Unrestricted
Shock/Vibration resistance (m/s?2) @ 300/50
Enclosure Dustproof

Note 1) Based on dynamic performance test, JIS B 8374-1981. (Coil temperature: 20°C, at
rated voltage, without surge suppressor)

Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the
axial direction and at the right angles to the main valve and
armature in both energized and de-energized states every once for
each condition. (Values at the initial period)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and
1000 Hz. Test was performed at both energized and de-
energized states in the axial direction and at the right angles to
the main valve and armature. (Values at the initial period)

Solenoid Specifications + Option

Grommet (G)/(H), L plug connector (L),
M plug connector (M), DIN terminal (D)
AC50/60 Hz 100, 200, 24*, 48*, 110*, 220*
DC 24, 6%, 12%, 48*
—15 to +10% of rated voltage
1.8 (With indicator light 2.1)
[24 VDC: 75 (With indicator light 87.5)]

Electrical entry

Coil rated voltage (V)

Allowable voltage fluctuation (%)

Power consumption (W) Note) DC
[Current mA]

Made 10 o [100 VAC: 45/50 Hz, 42/60 Hz }
Order I\II_!adg tto_IO rdtir Stpeclflcztéczr%s Apparent power (VA) Nete) | | Inrush | 4.5/50 Hz, 4.2/60 Hz | 50 yaC: 22.5/50 Hz, 21/60 Hz
(For details, refer to page 4-6-46.)  (Current ma] Holding | 3.5/50 He. 3/60 Ha [100 VAC: 35/50 Hz, 30/60 Hz }
9] : 200 VAC: 17.5/50 Hz, 15/60 Hz
. Surge voltage suppressor : Di :
Option 5 VNS gD _DC: Diode, AC: ZNR
Indicator light DC: LED (Red), AC: Neon bulb
Description | Part no. Note Note) At rated voltage
With foot Mounting screw Q
bracket DXT170-34-1A (M3 x 6)
Forvalve unit (Rport), ~ Operating Pressure
. AN120-M5 | -
Silencer|M5 Noise reduction: 21 dB or more, - —
(28 x 17¢) Effective area 5 mm2 Type of |Operating pressure range| Vacuum specifications (MPa) . ) Note)
HIEEE] actuation (MPa) 1 (P) port R port Portsize|  Weight ()
Body |VZ110| N.C. 0t0 0.7 —27 kPato 0.6 | —100 kPa to 0 M5 x 0.8 70
ported [VZ120| N.O. 010 0.5 —100 kPato 0 |-100 kPa to 0.4 '
Q Note ) Weight stands for grommet type
Flow Characteristics
Flow characteristics
Typeof | Port . [NC:1—2((P— A) . [NC:2—>3(A>R)
Model  Loyation size |SUPPW SIde|NGig 5 (R a)) | EXhAUSEsIde (55 (A= P)
C [dm?/(s-bar)] b Cv C [dm?/(s-bar)] b Cv
Body |[VZ110| N.C. M5 x 0.8 0.11 0.026 | 0.023 0.19 0.071 0.042
ported [VZ120| N.O. ) 0.19 0.071 0.042 0.13 0.18 0.031
Construction
VZ110 (N.C)) Jssymbol VZ120 (N.O.) Jis symbol Component Parts
. . No. Description Material Note
De-energized - De-energized @ | Body ZDC _ |Platinum silver
: W g S b @ | Push rod Resin
Yy H (3 | EXH poppet NBR
Ei 1 7 } N.C.| Back up spring | stainless
__® I —® @ N.O.| Poppet spring steel
%{ Replacement Parts
No. | Description Part no. Material Note
® N ) @ Solenoid A Epoxy
] =, :Ei! ® assembly DXT170-A-000 Stainless steel VZ110
. J?—I:E’”P) (SUPpot) @ = S ® | Solenoid | pyrizoe.omn|, BN 1 yzi20
003 it 5= B (A2 F® assembly Stainless steel
=l 1] . Common with
@— rit—1r 3(R) (EXH port R P -
0 fiiz ( ()D( port) o 3( )O(su port) @ | Oring | 13x11x1 | NBR |glas
i ()

4-6-6



3 Port Solenoid Valve
Rubber Seal, Body Ported Series VZ 1 00

i Body Ported
Grommet (G), (H)
VZ10-0§ O-M5(-F) 2-035
(Mounting hole) \
ounting hole .
V100
SY
G: 300 mm p—
H: 600 mm
[(Lead wire length) SYJ
-‘ZH : Manual override W
! P e (Non-locking) VR
' -02.6
@ | / (Mounting hole for mazni‘facid)
{F‘} = H ) - | © VT
| S - 2t s A gI I VP
:_‘r_______ﬂ‘d __.;T.u-;;'s.____w.:u.‘ru i ‘__jk_.i,_ ~d
1 2 9 9 20 1 —
3-M5X0.8
= (Piping port) - &
VP
18 —
kT 5070
© A= R =r—""1 —
=] ,/' 0 z = VQ
X 2-M3 x 0.5 depth 5 T
(Mounting thread) VKF
vQz
. \'¥4
L plug connector (L) M plug connector (M) DIN terminal (D) —
VZ100-0LO-M5 VZ100-OMO-M5 VZ100-0DO-M5 VS
Applicable cable O.D.: ¢3.5 to 67 VFN
< o 57
- %
é %: 495 PQ.T
S
g [
1 [ |
—, [}
= I m— e *[» -
=300 io
(Lead wire length) )
== i N
- _Eu
LI..I.JE'_I“ ______ = 7LA_‘-I-|
43
Q : With light/surge voltage suppressor
ZS\MC 4-6-7



Series VZ100
Manifold Specifications

Option

Manifold Specifications

Model VV321-01-001 | VV4Z1-20-001

Manifold type Single base/B mount
P(SUP)/R(EXH) Common SUP/Common EXH
Valve stations 2 to 20 stations
A port Location Valve
Porting specifications Direction Top

g 1(P), 3(R) port M5 x 0.8 Rc /8
FIUErD 2(A) port M5 x 0.8

Note 1) If there are more than 10 stations, exhaust from both sides of manifold.
Note 2) Not able to use VZ120 and VZ110 on the same manifold base.
Note 3) In the case of VZ120, supply air to 3 (R) port and exhaust from 1(P) port.

Flow Characteristics

Port size Flow characteristics
. 1-2(P—>A 2—->3(A—>R)
Manifold
1(P), 3(R) A B C b | cv (¢} b Cv
Port Port [dm&/(s-bar)] [dm3/(s-bar)]
VV3Z1-01-C11 M5x0.8 | M5x0.8 0.13 0.13]0.03 0.22 0.074/0.048
VV4Z1-20-C11 1/8 M5 x 0.8 0.13 0.1 ]0.03 0.22 0.15 |0.052

How to Order Manifold

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along
with the manifold base model no.
(Example) VV3Z1-01-031-+:--e-- 1 pc. (Manifold base)

*VVZ110-5LZ-M5.-.... 2 pcs. (Valve)

*DXT170-25-1A----- 1 pc. (Blanking plate assembly)

LThe asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

Combinations of Solenoid
Valve, Gasket and Manifold

Round head combination screw
M2.5 x 25
(With spring washer)

Applicable base
VV321-01-J1 | Manifold
VV4Z1-20-(11]) base

| Blanking Plate Assembly

DXT170-25-1A

Round head combination screw

M2.5X7
i (With spring washer)

Blanking plate
DXT170-25-2

Manifold gasket

|| Applicable base
VV321-01-0J01 | Manifold
VV4Z1-20-C11 | base

4-6-8

| Individual EXH Spacer Assembly |
DXT170-48-1A

| Individual SUP Spacer Assembly |
DXT170-44-1A

[—————————-- -

combination screw DXT170-33-3

(M2.5x 36)

r— ;
I Spring washer | Spring washer
! Round head
Round head ! combination screw
|
|

1
1
1
I
[
1
|
1
1
1
1

____________ J

Dhsommmmmsmomsm e ey Bt P A i R S R e

i | ! Individual

Individual EXH spacer | i SUP spacer

DXT170-48-1 : : DXT170-44-1
Manifold gasket | :
DXT170-20-1] |
I

I : [ S Manifold gasket
P DXT170-29-1
L e e e e o e i 1 | SN i i R

Applicable base
VV3Z1-01-01| Manifold
VV4Z1-20-C01 [ base

. Mounting Screw
A Caution Tightening Torques
M2.5: 0.45 N-m

Applicable base
VV3Z1-01 -D1} Manifold

VV4Z1-20-C01 | base

/A\ Warning

When mounting a solenoid valve on the manifold base or sub-plate, etc., the mounting
direction is determined. If mounted in the wrong direction, the equipment to be wired
might result in malfunction. Refer to dimensions of this catalog and use caution to the
mounting direction.

SVC

O




3 Port Solenoid Valve
Rubber Seal, Body Ported Series VZ 1 00

Type 01 How to Order
Applicable solenoid valve
VZ110-00O00O-M5

VV3Z1-01-05 |1 VZ110-000-S
i .—I Applicable blanki lat
Stations Option pplicable blanking plate

- assembly
02 | 2 stations

DXT170-25-1A

. | F:‘{)VJ;ZJS?‘ Individual EXH spacer assembly
20 | 20 stations AR DXT170-48-1A ——
Individual SUP spacer assembly Vi 00
DXT170-44-1A
SY
+ Bracket is not mounted. —
SYJ
Note) ¢ If there are more than 10 stations, VK
exhaust from both sides of manifold.
e It is not able to use VZ110 and VZ120 on
the same manifold base.
Type 20 How to Order VT

Applicable solenoid valve

VV4Z1-20-05 (1 — VZ110-000-M5 VP
VZ120-O000-M5 —
Stations .—I J m Applicable blanking plate VG

02 [2satons  Thread type assembly
- - Ni Wi DXT170-25-1A
: : il Rc F: With foot L
- 00F G bracke Individual EXH Spacer assembly VP
20 | 20 stations 2 o ﬂq: N DX_T_1 70-48-1A L
| ol >l | Individual SUP Spacer assembly S070
00T | NPTF >~ % | DXT170-44-1A
P’// o, —
@ vaQ
* Bracket is not mounted. ——
VKF
Note) ¢ If there are more than 10 stations, supply VQZ
air to SUP port on both sides of the
manifold and exhaust from EXH port on —_—
both sides of the manifold. VZ
¢ |t is not able to use VZ110 and VZ120 on
the same manifold base. F
VFN

SMC 4-6-9

O



Series VZ100

Type 01 Manifold: Top Ported

VV32-01-Stations |1(-F)

Grommet (G), (H)
2-94.5
(Mounting hole)
La
e o &
@
J
X X X X
Manual override
(Non-locking) G: 300 mm _
n-M5x%0.8 | H: 600 mm (Lead wire length)
A port LE :
L Mo
@ g o ¢
K 10
I ndndee Ja8 el
2-94.5 s (I;itcrs) 12 = RS
i = o )
(Mounting hole) T : R
L (P, R port)

g 20 o0 oo

38.5

™ T}
4€ —
(12 8\ La _l8l12] ©@

4-M3 x 0.5 depth 4.5
(Bracket mounting screw)

Stations n 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L1 48 | 64 | 80 | 96 | 112 | 128 | 144 | 160 | 176 | 192 | 208 | 224 | 241 | 256 | 272 | 288 | 304 | 320 | 336
L2 40 | 56 | 72 | 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 | 328
Ls 16 | 32 | 48 | 64 | 80 | 96 | 112 | 128 | 144 | 160 | 176 | 192 | 208 | 224 | 240 | 256 | 272 | 288 | 304
L4 8 | 24 | 40 | 56 | 72| 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296
L plug connector (L) M plug connector (M) DIN terminal (D)
Applicable cable O.D.: 3.5 to o7
49.5
£ e
g 725 é
% é Pg.7 65 s
H
58.5 = \%ﬂﬁl
: @ | "
. —— || | T
ey = = I E-H
© » 3 ol §
=300 o g
(Lead wire length) —{&#-- — 73— I ﬁ

Q O: With light/surge voltage suppressor

4-6-10

o
5



11
3 Port Solenoid Valve
Rubber Seal, Body Ported Series VZ 1 00
Type 20 Manifold: Top Ported

VV4Z21-20- Stations |1(-F)

Grommet (G), (H)
2-94.5
Mounting hole
;( 9 L3 ) 185
l = e of
B =i w = R
o]
E V100
; SY
Manual override G:300 mm SYJ
(Non-locking) : .
H: 600 Lead length
e mm (Lead wire length) VK
- N e W e W A port rea
;'H E' G &1 EE
. |
©
[Te]
o [® ® 73_—‘
2-04.5 : e i VP
- = ch)[~ I
(Mounting hole) P=16 |12 2
L2 6.5 4-Rcl% VG
Ly (P, R port) ——
VP
NI S070
n
; y o va
™ = 010 —
e - " VKF
(14.5) 8 \ L4 8|14.5 —
4-M3 x 0.5 depth 4.5 VQZ
(Bracket mounting screw) ——
\'¥4
VS
Stations n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 VFN
L1 53 69 85 101 | 117 | 133 | 149 | 165 | 181 | 197 | 213 | 229 | 245 | 261 | 277 | 293 | 309 | 325 | 341
L2 40 56 72 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 | 328
L3 16 32 48 64 80 96 | 112 | 128 | 144 | 160 | 176 | 192 | 208 | 224 | 240 | 256 | 272 | 288 | 304
L4 8 24 40 56 72 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296
L plug connector (L) M plug connector (M) DIN terminal (D)
Applicable cable O.D.: 3.5 to 67
£ 495[52.5] 125
S) 65
C
82 ﬂ 9 Pg.?
[}
58.5 <l'|>|§ Nl g ‘
— o i |
7',','45 rwl —|' g r B _ﬁ\g:
| * [ ]
L ©

56.5

(Lead wire length) &

7 *37 7% 37_3
Y g Y

Q O: With light/surge voltage suppressor

SMC 4-6-11

O






3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted

Series VZ300

cety

13

For details about certified products
conforming to international standards,
visit us at www.smcworld.com.

Nil: Individual pilot
exhaust type

How to Order V1o
Port size Option PV
MS5: M5 x 0.8 F: With foot SY
bracket —
SYJ
VK
Q Note) ¢ Bracketciis not —
ted.
. E)g:ue?;)teextemal pilot.
B OQ — e
o"’}\ Q
6\,06‘ 05\\0 & VT
QQ’ O& R ——
) 2 — Thread type VP
LA CR VZ3| 1 |2 — Nl Ro —
F G VG
I I N NPT ——
T | NPTE
EEc VZ3| 1 |4 — L NPTE VP
l l 5070
Type of actuation Port size -
Normally(%l)osed Nil: Without sub-plate 01: With sub-plate /3 VQ
1 7] VKF
b1 I T —
b vaz_
N Il
ormally (()g)en VZ
2 / KGN Manual override VS
b ] l; T Nil: Non-locking B: Locking type B C: Locking type C p—
R push type (Slotted) (Manual) VFN
| % 4 o % S
Body option %
M: Common exhaust  R: External Note)
for the pilot and pilot type
main valve Light/Surge voltage suppressor

R port

10

P, E port

R port P, E port

ki

Q Note)VZ302R is for manifold only.

Nil None
Z* | With light/surge voltage suppressor
S With surge voltage suppressor

Q * Not available for “GZ”, “HZ” and “DOZ”

Rated voltage «—

1 100 VAC, 50/60 Hz
2 200 VAC, 50/60 Hz
3* 110 VAC, 50/60 Hz
4* 220 VAC, 50/60 Hz
5 24 VDC

6* 12 VDC

9* Other

* Option

Electrical entry

Grommet | L plug connector M plug connector DIN terminal
G: Lead wire | L: With lead wire |M: With lead ~ MN: Without D: With connector
length (Length 300 mm) wire (Length lead wire
300 mm 300 mm)
H:Lead Wire || N: without  LO: Without |MO: Without |DO: Without
Ge(;](?mm r connector connector connector

O
:

# “LN”, “MN” type: With 2 sockets.

4-6-13



Series VZ300

Low power consumption:
1.8W DC

Applicable for vacuum use

-100 kPa
VZ300R: External pilot type

Exhausting equipment for
pilot valve not required.
VZ300M: Central exhaust type

It is not necessary to take exhaust
measures for the pilot valve for
environmental protection.

Possible to use as either a

selector or divider valve
VZ300R: External pilot type
Can be used for universal porting.

Refer to pages 4-6-18 to 4-6-28 for manifold use.

Mg,d;e‘f’ Made to Order Specifications

Specifications

14

Fluid Air

Operating pressure range .

(MPa) Internal pilot 0.15t0 0.7

Ambient and fluid temperature (°C) —10 to 50 (No freezing. Refer to page 4-18-4.)
Response time (ms) (at the pressure of 0.5 MPa) () 20 or less

Max. operating frequency (Hz) 10

Flow characteristics

Refer to the table below.

Manual override @

Non-locking push type
Locking slotted type, Locking lever type

Pilot exhaust method

Individual pilot exhaust type,
Common exhaust (pilot and main valve) type

Lubrication

Not required

Mounting orientation

Unrestricted

Shock/Vibration resistance (m/s?) @

300/50

Enclosure

Dustproof

Note 1) Based on dynamic performance test, JIS B 8374-1981. (Coil temperature: 20°C, at
rated voltage, without surge suppressor)
Note 2) When operating the locking type manually, apply torque of 0.2 N-m or less.
Note 3) Impact resistance: No malfunction occurred when it is tested with a drop tester in the

axial direction and at the right angles to the main valve and
armature in both energized and de-energized states every once for
each condition. (Values at the initial period)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and
1000 Hz. Test was performed at both energized and de-
energized states in the axial direction and at the right angles to
the main valve and armature. (Values at the initial period)

Solenoid Specifications

x Option

. Grommet (G)/(H), L plug connector (L),
Electrical entry M plug connector (M), DIN terminal (D)
. AC50/60 Hz 100, 200, 24*, 48*, 110%, 220*
Coil rated voltage (V) DC 24, 6% 12, 48"
Allowable voltage fluctuation (%) —15 to +10% of rated voltage
Power consumption (W) DC 1.8 (With indicator light 2.1)
[Current mA] Note) [24 VDC: 75 (With indicator light 87.5)]
100 VAC: 45/50 Hz, 42/60 Hz ]
Note ’
Apparent power (VA) ) AC Inrush 4.5/50 Hz, 4.2/60 Hz [200 VAC: 22.5/50 Hz, 21/60 Hz
[Current mA] . [100 VAC: 35/50 Hz, 30/60 Hz ]
Holding | 3.5/50 Hz, 3/60 Hz | 5 yaG: 17.5/50 Hz, 15/60 Hz
Surge voltage suppressor DC: Diode, AC: ZNR
Indicator light DC: LED (Red), AC: Neon bulb

Q Note) At rated voltage

Flow Characteristics/Weight

Flow characteristics
Type of |Port 1-2(P—-A 2-53(A—R) ) Note)
el actuation|size c 5 |6 c b | G Weight ()
[dm¥(s-bar)] V' |[dme/(s-bar)] v
VZ312| N.C. 0.53 |0.45|0.14 0.47 ]0.39|0.12
M 7
Body ported 1373251 N.0. |M° [ 0.66 |0.450.18] 066 |0.45|0.18 °
Base mounted [ VZ314| N.C. 1 1.2 0.41/0.32 1.1 0.46 | 0.32 105
(With sub-plate) vz324| N.O. | 7® 1.3 0.37 /0.33 1.2 0.48 | 0.34 [Without sub-plate: 75)
Q Note) Weight stands for grommet type.
Option
Description Part no. Note

Foot bracket

DXT170-34-1B

With screw (For VZ3[2)

(For details, refer to page 4-6-46.)

4-6-14

o
5



15
3 Port Solenoid Valve .
Rubber Seal, Body Ported/Base Mounted Series

VZ300

External Pilot

VZ300R
JIS Symbol
Pilot valve pressure is supplied separately from the main valve pressure VZ310R
through the use of a separate supply port.
It can be used in the vacuum (up to —100 kPa) or low pressure line with 0.15 (A
MPa or less. )
(
Specifications D] T T
Applicable model Base mounted (VZ314R/324R) 13
Operating pressure range Main pressure -100 kPato 0.7 PR
(MPa) External pilot pressure 0.1510 0.7 VZ3200R
Note 1) For manifold base, refer to page (A)
4-6-18. 2 |
Note 2) In the case of the body ported type, '
the pilot type (VZ3O2R) is used /\/\ jz]
exclusively on a manifold. E Tl T

An external pilot style that can be
used individually is available as a
made-to-order. For details, refer to
the page 4-6-46.

1 3
P) (R)

AL
VG
Fovl VP
S070
va
Construction —
VKF
N.C. " N.O. ® vaz
2 —
£A 1| /R =pANl vz
b ® @ VS
® a 3 9 8 —_—
SR 1 11 Y
| 1 f | ] U

PrEE g I S ] g :3

=5 H =l ﬂ a )
béd _'—.(11(5\)—(%%- B

e =2l

Ly |2 L

1 R e

Component Parts Replacement Parts

No. Description Material Note No. | Description Material Part no. Note
(D | Body Aluminum die-casted Platinum silver @ | Sub-plate Aluminum die-casted |DXT200-13-10JP
(2) | Piston plate Resin Black Solenoid assembly | Epoxy/Stainless steel| DXT170-C-000C
3 | End cover Aluminum die-casted Black © | O-ring NBR 13x 11 x1 |Common with VZ100
@ | Piston Resin - Sub-plate part no.: DXT200-13-1[JP | :Thread type
(5 | Spool valve assembly — — Nil Rc
(® | Spool spring Stainless steel — F G
N NPT
T NPTF
4-6-15

O
5



Series VZ300

5=

=y Body Ported

Grommet (G), (H)
VZ302-0§0-M5(-F) o
15.5 2- 026
a / (Mounting hole for manifold)
v N5
w| ol HA { €
il 19:%5 Manual override
40.5 (Non-locking)
z 25
(o))
106 ré
EEt o
EE s
a Bracket oS,% 3
20| © 3
- ,ﬂgI = Za
A : - n 7
+ =]
3 g 9 5 Tofes
+—4% i-—M = [D: ,’ :é
v E; ] —
o H44 2-92.6 15
\—ai;.}. 98 (Mounting hole) 16
T 23 | 72 =
2-M3x0.5 1 2-93.5
(Mounting screw) (Mounting hole)
3-M5X0.8
Bracket - / (Piping port)
HIPs R )
1 [ me W
I
o5 | 1 \ M5 x 0.8 (PE port)
36
L plug connector (L) M plug connector (M) DIN terminal (D)
VZ3[2-C1LO0O-M5 VZ32-C0MO0-M5 Vz3[12-C1DOC-M5
66
=S Applicable cable O.D.: 3.5 to 87
=
gl Pg.7 /
@l = L —
= 815 | =300 | —— %E
J_lu § (Ler wire length) @ ==
o ] ;
i i 1o} ~
{ - " [ ol
T [ e E [— 3 o @ ] 3
+ + o
83 MAX.10

4-6-16

Q 0O: With light/surge voltage suppressor

o
5



17
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ3 00

Base Mounted (With sub-plate)

Grommet (G), (H) =
VZ304-0§ 00-01 ey
N 3t
Y/
V100
m SYJ
2-04.5 T
Manual override (Mounting hole) VK
(Non-locking) l_ﬁJ = I—
_ = VZ
Lni_ﬁeﬁ;r‘ % F
= 4 = I
405 3 [y~
g 64 g VP
_ g 72 —
P 833 3-Rc 1/8
Jﬂﬁl EEaE) (Piping port) glﬂ VP
S s i M5x08 $070
3 ° ~ Xport —
) 3 (For external pilot port) VQ
J J = M5 x 0.8 (PE port) —
: a ki VKF_
:g 17 |9 : —_—
24 < vVQz
32 —
\'¥4
VS
L plug connector (L) M plug connector (M) DIN terminal (D) VEN
VZ3[4-L00-01 VZ3[4-OMO-01 VZ3[14-1D0O0-01
il 66 Applicable cable O.D.: 93.5 to &7
giﬁ Pg.7
" g | =800 | 815 _ESH 5
*’-‘;‘3 (Lea;d wire Iengﬁth) - f T Eg
=] | |

64.5
1
55.5[58.5]
49
|
=
B
785
71
L F
———

{ Pan
S .
72
MAX.10 83

Q 0: With light/surge voltage suppressor

SVC 4-6-17

O



4-6-18

Series VZ300
Manifold Specifications

Manifold Specifications

For internal pilot 20-C01 40-012 40-C11
it 2 For external pilot | 21R-011 40R-002 40R-0I1
Manifold type Single base/B mount
P(SUP)/R(EXH) Common SUP/Common EXH
Valve stations 2 to 20 stations
A port porting Location Valve Base
specifications Direction Top Bottom Side
1(P), 3(R) port Rc /5 Rc1/8 Rc /8
. M5x 0.8 |M5x 0.8, Rc 1/8, C4 (One-touch fittin
Port size 2(A) port M5x0.8 e for @4), C6 (One-tou(ch fitting for !36)g
X port Note) M5 x 0.8 M5 x 0.8 M5 x 0.8

Q Note) Only for external pilot

Flow Characteristics

Flow characteristics

— e 152P—A 2-3(A>R)
anifol

1(P), 3(R)| 2(A

(p)o?t( ) pf)r% C [dm3/(s-bar)]| b | Cv [C[dm3(s-bar)]| b | Cv

Body ported

. - |VV3Z3-20-01 | VZ3[2 Y8 |M5x0.8 0.47 0.43]0.13 0.74 0.32|0.19
For internal pilot

s |M5x0.8 0.71 0.52 |0.21 0.81 0.28 | 0.20

VV3Z3-40-[12

Base 8 8 0.98  |0.36(0.25 092 [0.24[0.22
mounted vzaoa | /8 IM5x08| 071  |049]0.2 0.80  [0.23]0.19
Forinternal | \viasa 40,14 V8 8 1.00 037|026 | 096 |0.25|0.24
pilot Y8 C4 0.68  10.35/0.17 1.00  |0.25]0.24

8 Cé 1.00 |0.27]0.25 100 [0.30 |0.26

Body ported

H H 1
For external pilot VV3Z3-21R-01 |VZ302R /8 |M5x0.8 0.47 0.430.13 0.74 0.32|0.19

Y8 |M5x08| 0.71 0.52 |0.21 0.81 0.28 | 0.20

VV3Z3-40R-012

Base 32340 Y8 Y8 0.98 |036[025| 092 [0.24]0.22

mounted VZ304R| /8 |M5x08| 071  ]0.49]0.2 080 |0.23|0.19
1 1

Fpr external | yy373-40R-01 %! /8 1.00 0.37/0.26 0.96 0.25]0.24

pilot Ya C4 068 |035[0.17| 1.00 [0.25)|0.24
s o) 1.00 |027/025| 1.00 [0.30{0.26

How to Order Manifold

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along
with the manifold base model no.

(Example)

VV3Z3-20-031-----1 pc. (Manifold base) VV3Z3-40R-031-C6----1 pc. (Manifold base)
*\/Z312-5LZ-M5---2 pcs. (Valve) #VZB14R-5G - weeereveenne 2 pcs. (Valve)
*DXT200-8-6A-----1 pc. (Blanking plate assembly) #DXT200-8-3A:-:----- 1 pc. (Blanking plate assembly)

LThe asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

o
5

18



19

3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ3 00

Option
| Combinations of Solenoid Valve, Manifold Gasket and Manifold | | Blanking Plate Assembly |
Body ported (VZ312) Base mounted (VZ314) Part no.: DXT-200-8-3A

Round head combination screw

% %/MQ.SXT

Blanking plate

Round head combination screw

M2.5X25

DXT200-8-2
Gasket
DXT200-9-8
I Applicable base
Sub-plate
VV3Z3-40-012
VV3Z3-40-011 Manifold
) VV3Z3-40R-02 base
Applicable base VV3Z3-40R-C1
: Sub-plate
Applicable base L
VV323-20-01 Manifold Vv3Z3-40-L12 .
VV3Z3-21R-011 base VV3Z3-40-11 Manifold VP
VV3Z3-40R-012 base Part no.: DXT200-8-6A I
VV3Z3-40R-[11 Round head combination screw VG

M2.5X7
¢
J

VP

. Blanking plate —
A\ Caution j, DXT200-8-2 S070

Mounting Screw e

Tightening Torques va

Gasket

M2.5: 0.45 N-m £ § SYJ500-5-4 T
Applicable base VKF

A\ Warning VV323-20-01

When mounting a solenoid valve on the manifold base or sub-plate, etc., the mounting VV3Z3-21R-L1 VQZ
S . . - . . Manifold base

direction is determined. If mounted in the wrong direction, the equipment to be wired —

might result in malfunction. Refer to dimensions of this catalog and use caution to the VZ

mounting direction.

SMC 4-6-19

O



Series VZ300

Manifold for Internal Pilot

20-1 How to Order Applicable solenoid valve
VZz312-0000-M5

VV3Z3_20— 05 1— ™ VZ312M-0000-M5
VZ322-0000-M5
’J ‘PR port
Stations

VZ322M-0000-M5

Thread type J Option Applicable blanking plate
Nil ) E assembly
i c Foot bracket DXT200-8-6A

S — 00F G * Bracket is not
20 |20 stations TO0ON | NPT mounted.

02 | 2 stations

Q 00T | NPTF
Note) For more than 6 stations, supply air to both sides of P port and exhaust air from both sides of R port.

40-12 How to Order Applicable solenoid valve
VZ314-0000
VV323-40-{05 [2-{M5
VZ324-0000
) l J P/R port VZ324M-0000
__Stations - Thread type Applicable blanking plate
02 | 2 stations  ° A port side NIl | Rc _ assembly
: : M5 | M5 x 0.8 F | & DXT200-8-3A
A port 20 |20 stations 01 1/8 N | NPT
M5x 0.8, 1/8 Q Z NPTE
Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.
40-11 How to Order Applicable solenoid valve
VZ314-0000d

VV3Z3-40-105 1C6 VZ314M-0000

VZ324-0000
Stations. | A port side ¢ * P/R port VZ324M-0000

02 | 2statons M5 M5 x 0.8 Thread type Applicable blanking plate
: : o1 1/8 Nil Rc assembly
20 | 20 stations  C4 | One-touch fitting for g4 F G DXT200-8-3A
C6 | One-touch fitting for @6 N NPT
M5 x 0.8, 1/8, C4, C8, B3, B7 B3 |One-touch fitting for @5/32" T NPTF

Q B7 | One-touch fitting for @1/4
Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.
Manifold for External Pilot

Pilot valve pressure is supplied separately from the main valve pressure through the use of a separate supply port. It can be used in the vacuum (up to —100 kPa) or low pressure line with 0.15 MPa or less.

21R-1 How to Order Applicable solenoid valve
P/R port VZ312R-0000-M5
VV3Z3—21R— 05 [1- e Thread type  vz322R-OOO0-M5
Stations ¢ Nil Rc Applicable blanking plate
02 | 2 stations 0WF | G aDi(s.l?mb'y "
= 0ON | NPT 200-8-6
Bl 50 stations 00T | NPTF

Q 20 | 20 stations
Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.

How to Order Applicable solenoid valve
VZ314R-0000
x \VV3Z3—40R— 05 [2—{ 01 VZ324R-0000
po Applicable blanking plate
Stations ._J {P/R port assembly

02 | 2 stations A port side Thread type DXT200-8-3A

1 "M5|M5x08 Nil | Rc
20 | 20 stations o1 178 F G
% - N [ NPT
NPTF

@,

Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.

40R-1 How to Order Applicable solenoid valve
VZ314R-0000

VV3Z3—40R— 05 (11M5 VZ324R-0000

D> N Stations .—A] g .J 1_‘ gspspeli:gllnle blanking plate
TSN o5 | 5 etatiors ort side y
= \I M5X08 P . M5 x 0.8 P/R port DXT200-8-3A
S - : .
ai > & 20 | 20 stations _01 1/8 Thr_ead type

,” @ o C4 | One-touch fitting for @4 Nil Rc

- Ql ", C6 | One-touch fitting for 86 F G
1/8,C4,C6, B3, B7 % B3 |One-touch fitting for 5/32" N NPT

Q B7 | One-touch fitting for @1/4 T NPTF
Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.

4-6-20 SVC

O



21

3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ3 00

For Internal Pilot
Type 20 Manifold: Top Ported

VV32Z3-20- Stations |1(-F)

Grommet (G), (H)
2-04.5
(Mounting hole)
: L3 18.5
V100
SY
G: 300 mm SYJ
Manual override H:600 mm (Lead wire length)
! (Non-locking) VK
n-M5x0.8 = M5x0.8
i A port /(PE port)
£ 2-04.5 7 P
g “J- 1% (Mounting hole) ﬁ ﬁ
o =n ———
| [ od] - &= o
_59 AR hah qﬁa 0 9[0’) li? (;)A - VP
— 11 L1 i | 1
S ~5E 3 Ny~
125 © 4-Rc 1/8 .éj P VG
(Pitch) o (P, R port) E—
P=16 12
Lo 65 VP
L ——
B S070
) va
& T
&, | oo VKF
l1a.5)]a\
4.5)|8 L4 |8|145
‘ ] vVQz
4-M3 x 0.5 depth 4.5 L
(Bracket mounting screw) VZ
VS
Stations n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 VFN
L1 53 69 85 101 | 117 | 133 | 149 | 165 | 181 | 197 | 213 | 229 | 245 | 261 | 277 | 293 | 309 | 325 | 341 L
L2 40 56 72 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 | 328
L3 16 32 48 64 80 96 | 112 | 128 | 144 | 160 | 176 | 192 | 208 | 224 | 240 | 256 | 272 | 288 | 304
L4 8 24 40 56 72 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296
L plug connector (L) M plug connector (M) DIN terminal (D)
Applicable cable O.D.: 93.5 to g7
= o
L2 o 725
o8 < 65
=300 e >
Uz 3
(Lead wire length) 3 i
T Q
&= 3 Pa7,/ TEr QT
A ot
- 2 U 3
“g
&
49.5(52.5]
Q O: With light/surge voltage suppressor
P 4-6-21
< SNC



Series VZ300

Type 40 Manifold: Bottom Ported

22

VV3Z3-40- Stations |2-M5/01 Rc 1/8

2-05.5

(Mounting hole)

Grommet (G), (H) s
(Die-cast hole) M 1
. 2-955 0.
D o — = (Mounting ]
= “g I g | | & hole) H—
¥ o el el la Sk
Q|2 bl —— x - n o,
&l 1 ™ o
s ' fesflle> 4Rc1/8 u)$ *‘m
I.Q <
a % g E;l (P, R port) “,28 __1
Manual'  (Pitch)
override  P=16[13.5 ! ! \
(Non-locking) (Lead wire length) /Ma‘nual (Pitch
L2 4.5 override P=17/18.5
L1 (Non-locking)
L2 4.5
L1
Jols, %1 i
{ o) ' '
<
0
w
Y f f
A A
of ¥ "0 OB G »@TF
[aV)

—i= :1:# Y ¥
, ‘ L (Pitch)
| | | n-Rc 1/8 P=17| 21
| (A port)
L
A
o ﬁ}A-@ & 7@ Patc!
Te}
0 ©
e &
(Pitch)
n-M5X0.8 P=16| 16
(A port) :
Port size[Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
M5 L1 52 68 84 100 | 116 | 132 | 148 | 164 | 180 | 196 | 212 | 228 | 244 | 260 | 276 | 292 | 308 | 324 | 340
L2 43 59 75 91 107 | 123 | 139 | 155 | 171 187 | 203 | 219 | 235 | 251 267 | 283 | 299 | 315 | 331
Rc 1/8 L1 63 80 97 114 | 131 148 | 165 | 182 | 199 | 216 | 233 | 250 | 267 | 284 | 301 318 | 335 | 352 | 369
L2 54 71 88 105 | 122 | 139 | 156 | 173 | 190 | 207 | 224 | 241 | 258 | 275 | 292 | 309 | 326 | 343 | 360
L plug connector (L) M plug connector (M) DIN terminal (D)
69 60[63] 49
— 5 @{9
‘?@. A
1 ﬂ,_ —]
40 | ] o ik
o e pg73 =
— | Al L
=300 7 :c-;
(Lead wire length) § & S Applicable cable O.D.: 83.5 to 67
M| o % 755
E = 83
el
1]
O
[O: With light/surge voltage suppressor
4-6-22

o
5



23
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ3 00

For Internal Pilot
Type 40 Manifold: Side Ported

VV3Z3-40- Stations |1-M5/01 Rc 1/8

Grommet (G), (H)
18.5
10.5
(Die-cast hole) 1
, 2-955 'H‘,.! L
© - —F ” (Mounting | ] o 5 2-¢5.5 V100
J8 | . hole) ol g o | : o T (Mountng ——
. < 7 gﬁ_% @& ¢ 0 . ! &) e hole) Sy
2 8 1l {éﬂ- 5 T ]é ol N <€3‘:|:|
- = \_4Re 1/8 @8 i
a g (P, R port)
o G: 300
(Pitch) 300 mm gk
/ overige P=16| 135 H: 600 mm /Ma‘nual (Pitch)
(Non-locking) ' ! (Lead wire override P=17135
55 45 length) (Non-locking)
Li L2 4.5
L
VP
ot Wi =
VP
X X X X X3 X X 8070
i T o (s>} —
~f <
A & ow A Al o va
4—o—p—o—1 =8 60 o8| ——
(Pitch), Pitch)
n-M5x0.8 / P=16/14.5 n-Rc 1/8 =1714.5 &
(A port) S
(A port) VQZ
\'¥4
__ VS
Port size|Staionsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 L——
M5 L1 52 68 84 100 | 116 | 132 | 148 | 164 | 180 | 196 | 212 | 228 | 244 | 260 | 276 | 292 | 308 | 324 | 340 VFN
L2 43 59 75 91 107 | 123 | 139 | 155 | 171 187 | 203 | 219 | 235 | 251 267 | 283 | 299 | 315 | 331

Rc 1/8 L1 53 70 87 104 | 121 | 138 | 155 | 172 | 189 | 206 | 223 | 240 | 257 | 274 | 291 | 308 | 325 | 342 | 359
L2 44 61 78 95 | 112 | 129 | 146 | 163 | 180 | 197 | 214 | 231 | 248 | 265 | 282 | 299 | 316 | 333 | 350

L plug connector (L) M plug connector (M) DIN terminal (D)
69 60[63] 49
'@@_‘ 4 & @
Es ]
[é@ | g n l(;@‘
B & | A Pg.7
=300 T—ar=
— J =3 2 Applicable cable O.D.: 3.5 to 67
(Lead wire length) p= S é 755
LE = 83
5
el
©
$ 0w
O: With light/surge voltage suppressor
4-6-23
ZS\VC



Series VZ300

For Internal Pilot
Type 40 Manifold: Side Ported

VV3Z3-40- Stations |1-C4/C6

Grommet (G), (H)
4-Rc 1/8
(P, R port) 185
10.5
(Die-cast hole) 1
2-04.5
(Mounting hole) 3
L{! -
ol ¥ . 2
[l
| © .
M~
© 10
u 2%
22
i 8y
Manual ~ (Pitch)
override P=16 12.5
(Non-locking) (Lead wire
L2 45 length)
L
i
2
h™
A O 2
(7 &
uy
\J ]
n-One-touch fitting
(A port)
Applicable cable O.D.: ¢4, 06
Stations n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 50 66 82 98 114 | 130 | 146 | 162 | 178 | 194 | 210 | 226 | 242 | 258 | 274 | 290 | 306 | 322 | 338
L2 4 57 73 89 105 | 121 137 | 153 | 169 | 185 | 201 217 | 233 | 249 | 265 | 281 297 | 313 | 329
L plug connector (L) M plug connector (M) DIN terminal (D)
69 60[63] B
® % 192 o
e s «}**f@
=i \ré 8 i l-é g m E =z
[ i
——fl2 I e
Po7 [T
=300 m— <
(Lead wire length) g ﬁ]
° 3 Applicable cable O.D.: 3.5 to 67
S ‘2‘ 75.5
el
§ 83

4-6-24

Q O: With light/surge voltage suppressor

O

SVC

24



For External Pilot

Type 21R Manifold: Top Ported

VV323-21R- Stations |1

3 Port Solenoid Valve .
Rubber Seal, Body Ported/Base Mounted Series

VZ300

25

Grommet (G), (H)
n-M5x%0.8 2-M5x0.8 18.5 V100
(A port) (External pilot port) 10.5 I
25 2-05.5 ]
‘ ‘ . NI (Mounting hole) 1 SY—
T O wn
ot [%ls > LELS T )/ & 3 D2t SYJ
&S _4} 7 o] o - -
g € b o 8 5] —
0| — I ﬂ?——T——
g8 i IN| [N
N2 $ 2
| 4-Rc 1/8
I (P, R port)
& = !
: Manual G: 300 mm |
(F\?“‘;ré ; override '1-600.mm_|
>=16/155| | | (Non-locking) (Lead wire
(& (7‘5 9 length) VP
L2 4.5
L VG
VP
S070
vaQ
VKF
i i f =]
mE Vaz
w —
(o]
\'¥4
VS
Stations n 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20 VEN
L1 62 | 78 | 94 | 110 | 126 | 142 | 158 | 174 | 190 | 206 | 222 | 238 | 254 | 270 | 286 | 302 | 318 | 334 | 350
L2 53 | 69 | 85 | 101 | 117 | 133 | 149 | 165 | 181 | 197 | 213 | 229 | 245 | 261 | 277 | 293 | 309 | 325 | 341
L3 47 | 63 | 79 95 | 111 | 127 | 143 | 159 | 175 | 191 | 207 | 223 | 239 | 255 | 271 | 287 | 303 | 319 | 335
L plug connector (L) M plug connector (M) DIN terminal (D)
89 60[63] 49
G o
L2 '¢) & -C%) 3 & @@
@ o &
0 o oc B
4o _ . el
3 ic 3 8
o= Pg.7
ety || \ HEHH
e o

=300
(Lead wire length)

@

=300 | [
(Lead wire length)

Applicable cable O.D.: 3.5 to o7

75.5

MAX.10

83

[O: With light/surge voltage suppressor

SvVC

O

4-6-25



Series VZ300

For External Pilot
Type 40R Manifold: Bottom Ported

VV3Z3-40R-|Stations | 2-M5/01 Re 1/8
Grommet (G), (H)
2-M5X0.8 -
(External pilot port) =
2-95.5 105
= e (Mounting hole) 1 2-M5x0.8
e ey x s o 2 (External pilot port)
gl Mo 1y b or= | 2055
o ¥ il al s 0 & (Mounting hole)
o g +_ = & =|e B N
2 8 i i ) g N &
. | " 5; < @ @
' 3 | 4Rc1m Qe = Fe | A BT
4l | ®Rpon | L&
Manual (Pitch) G: 300 ' =
override F=16155 H: 600 ,r:,r: i : Manual
(Non-locking) L3 75 Lead wire lendth (Pitch) override
; (Lead wire length) P=1715.5| | “(Non-locking)
L2 4.5 La 7.5
Li L2 a5
L1
) i
(=]
T Lq q,
[Te} N
3 :
ol ¢ GGG
™ 3 I.I.! = &
EERER D =
i | ' h n-Rc 1/8 P=17| 21
] | (A port) (Pitch)
i [Si]
ol [BA < 4 A
’ AR
bt ®
n-M5x0.8 / (Pitch)
(A port) ;_16 21
Port size[Stationsn] 2 3 4 5 6 7 8 9 10 | 11 [ 12 [ 13 [ 14 [ 15 | 16 | 17 | 18 | 19 | 20
L1 | 62 | 78 | 94 | 110 | 126 | 142 | 158 | 174 | 190 | 206 | 222 | 238 | 254 | 270 | 286 | 302 | 318 | 334 | 350
M5 | L2 | 53 | 69 | 85 | 101 | 117 | 133 | 149 | 165 | 181 | 197 | 213 | 229 | 245 | 261 | 277 | 293 | 309 | 325 | 341
L3 | 47 | 63 | 79 95 | 111 | 127 | 143 | 159 | 175 | 191 | 207 | 223 | 239 | 255 | 271 | 287 | 303 | 319 | 335
L1 | 63 | 80 | 97 | 114 | 131 | 148 | 165 | 182 | 199 | 216 | 233 | 250 | 267 | 284 | 301 | 318 | 335 | 352 | 369
Rc1/8| L2 | 54 | 71 | 88 | 105 | 122 | 139 | 156 | 173 | 190 | 207 | 224 | 241 | 258 | 275 | 292 | 309 | 326 | 343 | 360
Ls | 48 | 65 | 82 99 | 116 | 133 | 150 | 167 | 184 | 201 | 218 | 235 | 252 | 269 | 286 | 303 | 320 | 337 | 354
L plug connector (L) M plug connector (M) DIN terminal (D)
69 60[63] 49
5 3 a7
- o - o4 B =
+ + lq @_
=t 3 =l 3 : (fr
Pg.7
= |l ] \ fEH
Py 1l
=300 % E »
Lead wire length =1
(Lead wire length) 2o 2 Applicable cable O.D.: 3.5 to 67
| o =<
‘§— < 75.5
= = 83
[
3

4-6-26

@

0O: With light/surge voltage suppressor

O

:



For External Pilot

Type 40R Manifold: Bottom Ported

Rubber Seal, Body Ported/Base Mounted Series

3 Port Solenoid Valve

VZ300

27

VV3Z3-40R- Stations | 1-M5/01 Rc 1/8
Grommet (G), (H)
2-M5%0.8
2.M5X0.8 18.5 (External pilot port)
(External pilot port) 10.5] 2055 Vi 00
2-95.5 1 TS i - 'é_ (Mounting L
u & T -] é— (Mounting & f%— g_'] g 9 %b . hole) —SY
=@ = 5 hole) 2T o g ©F 14 ﬁ _é{
gl = & I o« g8 02 —
IBpsyms sy mll [ L R el s S
~ | —
IJ L!:) L \ 4-Rc1/8 ) f Q L
L: L G: 300 mm & e il ‘
: ¢ soo0 mm Pitch)
! ) H: 600 (
; (g't_Ch) (Cead W?:Z Manual override FI'——‘17 15.5
IVINanulaI T(yemde =166 length) (Non-locking) Ls 75
(Non-locking) L3 7.5 L2 45
L2 4.5 L ——
L VP
VG
VP
S070
: va
(02} @ —_—
ol P VKF
w w
™ N —
T
P=16| 19.5 VQZ
n-M5x0.8/  (Pitch) —
(A port) \'¥4
—— VS
Port size[Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 62 78 94 110 | 126 | 142 | 158 | 174 | 190 | 206 | 222 | 238 | 254 | 270 | 286 | 302 | 318 | 334 | 350
M5 L2 53 69 85 101 117 | 133 | 149 | 165 | 181 197 | 213 | 229 | 245 | 261 277 | 293 | 309 | 325 | 341 VFN
L3 47 63 79 95 | 111 127 | 143 | 159 | 175 | 191 207 | 223 | 239 | 255 | 271 287 | 303 | 319 | 335
L1 63 80 97 114 | 131 148 | 165 | 182 | 199 | 216 | 233 | 250 | 267 | 284 | 301 318 | 335 | 352 | 369
Rc1/8 | L2 54 71 88 105 | 122 | 139 | 156 | 173 | 190 | 207 | 224 | 241 | 258 | 275 | 292 | 309 | 326 | 343 | 360
L3 48 65 82 99 | 116 | 133 | 150 | 167 | 184 | 201 | 218 | 235 | 252 | 269 | 286 | 303 | 320 | 337 | 354
L plug connector (L) M plug connector (M) DIN terminal (D)
69 60[63] 49
S0
[is
i n
g | o [§ 3
r' s LA
% -
—_
=300 - ==
: o] @
(Lead wire length) =3 =) Applicable cable O.D.: 83.5 to 67
il | o >
7.*§- < 75.5
ks = 83
[
|G
[O: With light/surge voltage suppressor
4-6-27

O
5



Series VZ300

For External Pilot
Type 40R Manifold: Side Ported

VV3Z3-40R- Stations 1-C4/C6

Grommet (G), (H)
2-M5X0.8
(External pilot port) 18.5
4-Rc 1/8 10.5
2-p45 (R Rport) 1
(Mounting hole) _T -
= 1 [ [ o ¥
0 o
e e
g e ' g =
<+ @ q B — e o
38 Sl
© Iy o L
= S . == —
Q9
_ <<
LiJ L@ B = b=p=
G:300 v 85
) :300 mm
(Pitch) P=1613.5 .
Manual override f H: 600 mm M5X0.8
(Non-locking) La 7.5 (Lead wire length)  (PE port)
L2 4.5
L1
A
|)-@
o
< o]
e T A7 N7 N7 7
N N
T_ ) P=16| 21
n-One-touch fitting Pitch
(A port) (Pitch)
Applicable cable O.D.: g4, 26
Stations n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 58 74 90 106 | 122 | 138 | 154 | 170 | 186 | 202 | 218 | 234 | 250 | 266 | 282 | 298 | 314 | 330 | 346
L2 49 65 81 97 | 113 | 129 | 145 | 161 | 177 | 193 | 209 | 225 | 241 | 257 | 273 | 289 | 305 | 321 | 337
L3 43 59 75 91 | 107 | 123 | 139 | 155 | 171 | 187 | 203 | 219 | 235 | 251 | 267 | 283 | 299 | 315 | 331
L plug connector (L) M plug connector (M) DIN terminal (D)
69 60[63] 49
o

o

{

&

ES:;E-

=300
(Lead wire length)

4-6-28

¢
2

300

(Lead wire length) 4

84.5
-

1]
i

Applicable cable O.D.: 3.5 to 7

75.5

MAX.10

83

Q O: With light/surge voltage suppressor

O

SVC



cely

3 Port Solenoid Valve

For details about certified products
conforming to international standards,
visit us at www.smcworld.com.

Rubber Seal, Body Ported/Base Mounted

Series VZ500

29

How to Order V100
Thread type 4 , Option —SY
Nil | Rc F: With foot =
F G bracket —
N | NPT SYJ
T NPTF —_—
Port size e VK
01 [ Y8 ) Note) » Bracket is not g
,\g,% mounted. VZ
QQQ * Except external
o o2 pilot.
O @ L
0’7}\ N $§ <\\é X ’\‘\é @ VT
& O N @ @ K\ - L
W2 Q‘\\ O > ) 9 2 . —
d & > Q> & ©
3 > & £ S O )
& S 0 & S < © VP
< P Y & & X Il
Body ported Y741 B P- — 5 || L — 01 — VG
Base mounted Y74 YN L] — 5 || L — —
. 7
l l Port size 50—0
Type of actuation 01: With 02: With Nil: Without VQ
Normally closed sub-plate /8 sub-plate /4 sub-plate
A . 4 N
2 VKF
1 L
b 1. ; Tm —
13 vVQz
(P)(R) —
Normally 389” Manual override vz
2 Nil: Non-locking B: Locking type B C: Locking type C VS
2 / push type (Slotted) (Manual)
7 | i ” VEN
13 % u% % VFN
(F’)m)
Body option
Nil: Individual pilot M: Common exhaust  R: External Note) Light/Surge voltage suppressor
exhaust type for the pilot and pilot type Nil None
i main valve i i Z* | With light/surge voltage suppressor
1 ! S With surge voltage suppressor
W' fﬁ ﬂ :Elﬂ * Not available for “GZ”, “HZ” and “DOZ’
wel E A
Rport ' P Eport R port P, E port
Note) VZ502R is for manifold only. Electrical entry
Grommet | L plug connector M plug connector DIN terminal
G: Lead wire |L: With lead wire | M: With lead MN: Without | D: With connector

Rated voltage «—

length (Length 300 mm) wire (Length lead wire
1 100 VAC, 50/60 Hz 300 mm 300 mm)
2 200 VAC, 50/60 Hz
3* 110 VAC, 50/60 Hz
4* 220 VAC, 50/60 Hz
5 24 VDC
6™ 12 VDC LN: Without LO: Without MO: Without
9* Other length lead wire connector connector
+ Option 600 mm

DO: Without
connector

4-6-29



Series VZ500

Low power consumption:
1.8W DC

Applicable for vacuum use

-100 kPa
500R: External pilot type

Exhausting equipment for
pilot valve not required.
500M: Central exhaust type

It is not necessary to take exhaust
measures for the pilot valve for
environmental protection.

Possible to use as either a

selector or divider valve
500R: External pilot type
Can be used for universal porting.

Refer to pages 4-6-34 to 4-6-45 for manifold use.

Made to Order Specifications

Specifications

Fluid

Air

Operating pressure range

(MPa) Inte

rnal pilot 0.15t0 0.7

Ambient and fluid temperature (°C)

—10 to 50 (No freezing. Refer to page 4-18-4.)

Response time (ms) (at the pressure of 0.5 MPa) ()

20 or less

Max. operating frequency (Hz)

10

Flow characteristics

Refer to the table below.

Manual override @

Non-locking push type
Locking slotted type, Locking lever type

Pilot exhaust method

Individual pilot exhaust type,
Common exhaust (pilot and main valve) type

Lubrication

Not required

Mounting orientation

Unrestricted

Shock/Vibration resistance (m/s?) @

300/50

Enclosure

Dustproof

Note 1) Based on dynamic performance test, JIS B 8374-1981. (Coil temperature: 20°C, at
rated voltage, without surge suppressor)
Note 2) When operating the locking type manually, apply torque of 0.2 N-m or less.

Note 3) Impact resistance:

No malfunction occurred when it is tested with a drop tester in the
axial direction and at the right angles to the main valve and
armature in both energized and de-energized states every once for
each condition. (Values at the initial period)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and

2000 Hz. Test was performed at both energized and de-energized
states in the axial direction and at the right angles to the main
valve and armature. (Values at the initial period)

Solenoid Specifications

x Option

Electrical entry

Grommet (G)/(H), L plug connector (L),
M plug connector (M), DIN terminal (D)

AC50/60 Hz

100, 200, 24*, 48*, 110%, 220*

Coil rated voltage (V) DC

24, 6%, 12% 48*

Allowable voltage fluctuation (%)

—15 to +10% of rated voltage

Power consumption (W) DC
[Current mA] Note)

1.8 (With indicator light 2.1)
[24 VDC: 75 (With indicator light 87.5)]

Note)

| h
Apparent power (VA) nrus

4.5/50 Hz, 4.2/60 Hz[

100 VAC: 45/50 Hz, 42/60 Hz ]
200 VAC: 22.5/50 Hz, 21/60 Hz

[Current mA] .
Holding

100 VAC: 35/50 Hz, 30/60 Hz
8.5/50 Hz, 3/60 Hz [200 VAC: 17.5/50 Hz, 15/60 Hz ]

Surge voltage suppressor

DC: Diode, AC: ZNR

Indicator light

DC: LED (Red), AC: Neon bulb

Q Note) At rated voltage

Flow Characteristics/Weight

Tvoe of |Port Flow characteristics . Note)
Model ac‘;ﬂ‘;tim Si‘;e 152(P—A) 2 53(A>R) Weight
Cldm(sban]] b | Cv |Cldm¥(sban] b | Cv @
vz512] N.C. 2.8 0.43 | 0.77 2.5 0.51 | 0.76
Body ported 7555 N 0. | /2 27 0.38 | 0.72 2.4 0.42 | 0.69 110
vz514] NC. [ o 2.9 0.32 | 0.71 2.7 0.34 | 0.69 160
Base mounted V2524 N.O. 2.8 0.21 | 0.71 23 0.45 | 0.63 | (Without
(With sub-plate) 7514 N.C. v 3.0 0.31 | 0.74 26 0.33 | 0.66 | sub-plate:
vzs24] N.O. 27 0.31 | 0.68 2.3 0.48 | 0.64 110)
Q Note) Weight stands for grommet type.
Option
Description Part no. Note

Foot bracket

DXT201-19-1A

With screw (For VZ5012)

(For details, refer to page 4-6-46.)

4-6-30

o
5



External Pilot

3 Port Solenoid Valve

Rubber Seal, Body Ported/Base Mounted S

eries VZ500

VZ500R
JIS Symbol
Pilot valve pressure is supplied separately from the main valve pressure VZ510R
through the use of a separate supply port.
It can be used in the vacuum (up to —100 kPa) or low pressure line with 0.15 (A)
MPa or less. 2 .
Specifications b T T
Applicable model Base mounted (VZ314R, VZ324R) (ﬂ,)(g)
Operating pressure range Main pressure —100 kPa to 0.7
(MPa) External pilot pressure 0.15t00.7 VZ520R
Note 1) For manifold base, refer to page (A)
4-6-34. 2
Note 2) In the case of the body ported type, !
the pilot type (VZ5CI2R) is used AA ES]
exclusively on a manifold. @
An external pilot style that can be 1T
used individually is available as a 13
made-to-order. For details, refer to PIR)
the page 4-6-46.
X port
P port External pilot port
Construction
®  N.C. ® N.O.
N
[ T /'I‘EE E 3 T EX'
13 1
(P)(R) (P)(%
@ 9 ® T 1 )
! N — e [ —  a—
— N {1 ) -
i |
== i == i
T 2 3 ' & A3 ‘
N N R o ad
loleipllyii— Syl —
= - ]
f //—~\\ [ ] /f—~\\ 1
Ly ) e
1 ‘\ i ' '\ i
| e | N

Component Parts

Replacement Parts

31

V100
SY
SYJ

o
Vo
w
s
Vo
VKF
3
vz

VS

No. Description Material Note No. | Description Material Part no. Note
(1) | Body Aluminum die-casted Platinum silver . . DXT201-2-10JP 1/8
@ | Piston plate Resin Black @ | Sub-plate | Aluminum die-casted|py o1 5 555 1/4
(3 | End cover Aluminum die-casted Black Solenoid assembly |[Epoxy/Stainless steel
@ | Piston Resin — © O-ring NBR 13 x 11 x 1 |Common with VZ100
® | Spool valve assembly — — 1 Thread tvpe
® | Spool spring Stainless steel — Sub-plate part no.: DXT201 '2'2@P NI :E
F G
N NPT
T NPTF
4-6-31

O

VFN



Series VZ500

-.;-.ﬁ Body Ported
‘Eﬂﬁj

Grommet (G), (H)
Vz502-0§00-01(-F)

79
1,235
w0 ™
= T
L 1 I
ole] Y] 4
o A < K
Bkl
2-03.2 1282 Manual override
(Mounting hole for manifold) 55.5 (Non-locking)
=
(o)}
5
_EE_ o
Bracket 11, 23.5 2-93.2 EETS
" [ole]
\_ (Mounting 2 3
B hole) S 9 =
T T ~
: g —€£ 7 /)
0 1
RS 2-045 D q%ﬁi
b & B (Mounting hole) '\ / ___é ™
4 5 (i
10 5
3.6 87 34
(Mounting screw) :
1B_145, R0y
- 4!'.'_ . (P, A, R port)
VT ST ]
1
i 51 M5x0.8
(PE port)
L plug connector (L) M plug connector (M) DIN terminal (D)
VZ502-0L0O0-01 VZ502-0MO0C-01 VZ502-00DO0-01
= Applicable cable O.D.: 3.5 to g7
Vg Pg.7
Sle |
W|E =
) 96.5 =300 —J1E
5 } @ J‘=
m— +9 (Lead wire length) =
B ~ |
4 ! ‘ ]
s+ o [[F° ] /== a [[e - 2
0
= B 8 b
975 MAX.10

4-6-32

Q 0: With light/surge voltage suppressor

o
5

32



33
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ5 00

Base Mounted (With sub-plate)

Ly [ ]
Grommet (G), (H) -
vz504-08§00-3 ! El
| ©O—+
‘ l— — e
- [ V100
i el SY
SYJ
M5x0.8 ——
Manual override (Mountinz‘r?;.es)’ Xport 20 VK
(Non-locking) }ﬁ[ g External pilot port I
é} — o — Pl s = =
W e R P VT
|26 | go 4 —
51
785 VP
87.5 W
EE é)i VP
R 5070
i va_
M5X0.8 / L L B VKF
(PE port) + 4 &, Nla L
3-Rcls, ba 23 15 - VQZ
(R, A, R port) 48 —
\'¥4
VS
L plug connector (L) M plug connector (M) DIN terminal (D) VEN
VZ504-000L0O0- 8} VZ504-C0MOO- 8} VZ5014-]D0O- 8; L
€ Applicable cable O.D.: 3.5 to o7
T %ﬁ Pg.7
Sle
@ E | =300 | 97 = |
T3 =

(Leaﬁ wire Ien'gth) ] — @
| | ]
\

f 1—“’@ Z.'.“—

86
785

A

T

O & 0

72
63[66]

56.5

MAX.10 98

Q 0: With light/surge voltage suppressor

4-6-33

O
5



Series VZ500
Manifold Specifications

Flow Characteristics

Port size Flow characteristics
. 1-2(P—A) 2—->3(A—>R)
Manifold P30 28 C C

port | port |[dm¥sban]| © | ©V [dm¥Usbany| P | OV
Body ported|Wazs20-01 [, [ 1/8 | 1/8 22 034 |055| 23 |027 059
For internal pilot[VV325-21-011 174 | 18 22 39 |059| 24 032|062
VV325-40-012 18 | 118 21 035|059 | 23 |0.27 |054
Base mounted [VV325-41-C12 14 | 18 22 |035|059| 24 |0.36 066
For internal VZ504| 1/4 | 1/8 2.0 0.27 | 0.47 2.2 0.32 0.56
pilot  |yv3z5-41-011 1/4 | C6 1.6 032 039 | 22 0.27 |0.54
174 | c8 21 024|051 | 23 |031]059
:?g%e‘r’n‘;[‘pjg WIZs2ROIVZSO2R| 174 | 18 | 22 |034|055| 24 |032 062
ace mounag TR 2 14 | 18 22 |035|059| 24 |0.36 |0.66

174 | 1 2. 27 [047| 22 32 |o.
For external | yygz5.41p.01| V25 4R 1;4 c/g 1.2 8.32 8.39 2.2 8.27 g.gi
PAIEE 174 | c8 21 024 | 051 | 23 |0.31 059

Q Note) Value at manifold base mounted

How to Order Manifold

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along
with the manifold base model no.

(Example)
VV3Z5-20-031:+eeeee 1 pc. (Manifold base) VV328-41R-031-01----1 pc. (Manifold base)
«\/Z512-5L.Z-01----------2 pcs. (Valve) #\VZ514R-5G: -+ eeuveeneees 2 pcs. (Valve)
*DXT201-15-6A- - 1 pc. (Blanking plate assembly) *DXT201-15-4A.-----... 1 pc. (Blanking plate assembly)
LThe asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.
Option
Combinations of Solenoid Valve, Manifold Gasket and ]Blanking Plate Assembly
Manifold Base Part no.: Part no.:
Body ported (VZ512) Base mounted (VZ5014) DXT201-15-4A DXT201-15-6A
(In common for body (For shipping assembled
Round head ported type and base manifold base for body
combination screw mounted type) ported type)

M3 %31

Round head combination screw

M3 x 10

Blanking plate
# DXT201-15-1

Gasket

/ SYJ700-5-1 !
Gasket A

SYJ700-5-3
Applicable Blanking Plate Assembly
Manifold base |Blanking plate assembly part no.

VV325-20
VV325-21(R)

Applicable base
Sub-plate

DXT201-15-6A

Applicable base VV3Z5-40-012 Manifold VVSZ5-40 | (yy1501.154A

VV325-20-011 Manifold VV3Z5-41-012 base VV3Z5-41(R)

VV3z5-21-1 base VV3Z5-41-01 Note) Only in the case of assembled with

VV3Z5-21R-C1 VV3Z5-41R-012 manifold base at the time of
VV3Z5-41R-01 shipment.

= For shipping blanking plate assembly
alone, DXT201-15-4A (In common use

A Caution A Warning for body ported type, base mounted type)
‘Mounting Screw When mounting a solenoid valve on the manifold base or sub-plate, etc., the mounting direction

Tightening Torques is determined. If mounted in the wrong direction, the equipment to be wired might result in
M3: 0.8 N-m malfunction. Refer to dimensions of this catalog and use caution to the mounting direction.

4-6-34 %gvc




3 Port Solenoid Valve .
Rubber Seal, Body Ported/Base Mounted Series

VZ500

Manifold for Internal Pilot

How to Order

VV3Z5-

Type 20/21

Applicable solenoid valve
VZ512-0000-010
VZ512M-0000-010
VZ522-0000-010

20

05

1-

. l * P/R port Z522M-0000-010
__Manifold * Stations thread type Applicable blanking plate
20| Type20 02 | 2 stations Nil Rc assembly
21| Type 21 —~ 1 :  o0F| G DXT201-15-4A

20 |20 stations 00N | NPT
~ 00T | NPTF

Q Note) If there are more than 6 stations for type 20, or more than 9 stations for 21 type, supply air to both
sides of P port and exhaust air from both sides of R port.

How to Order

Applicable solenoid valve

VZ514-0000
VV3Z25-40 05 [2-01| V251400000
Manifold «— l *P/R port VZ524M-0000
20] Type a0 Stations thread type Applicable blanking plate
TW _02 | 2 stations Nil Rc assembly
= N : Aportside F | G DXT201-15-4A
20 |20 stations o1 | 1/8 N NPT
NPTE

Y4
Q Note) If there are more than 6 stations for type 40, or more than 9 stations for 41 type, supply air to both
sides of P port and exhaust air from both sides of R port.

How to Order Applicable solenoid valve

VZ514-0000
VV3Z5-41-05 [17C6 V25140000
Stations e 1 a port side ¢ ‘PR port vzs2am-0000
02 | 2stations 01 178 thread type App"cabf"e blanking plate
o . . . n
: L C6 | One-touch fitting for 6 Nil Rc DXT201 -¥5-4A
20 | 20 stations €8 | One-touch fitting for &8 F G
B7 | One-touch fitting for &1/4 N NPT
One-touch fitting for O.D. @6 mm, B9 | One-touch fitting for 25/16 T NPTF

8 mm are builtin. Q Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.

Manifold for External Pilot

Pilot valve pressure is supplied separately from the main valve pressure through the use of a separate supply port. It can be used in the vacuum (up to —100 kPa) or low pressure line with 0.15 MPa or less.

How to Order

VV3Z5-21R—

Type 21R

Applicable solenoid valve
VZ512R-0000-M5
VZ522R-0000-M5

05

P/R port : :
Applicable blanking plate
Stations «— — thread type nbly
02 | 2 stations Nil Rc DXT201-15-4A
: 00F G
_ 20 | 20 stations 00N | NPT
00T | NPTF

Q Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.
How to Order Applicable solenoid valve

VZ514R-0000
VV3Z5-41R- 2- (ﬂ VZ524R-0000
Stations — J—‘lﬁ‘ port
02 [ 2 stations. A port side thread type

Applicable blanking plate
01| 1/8 Nil | Rc

assembly
DXT201-15-4A
| 20 stations F G
N NPT
Q T NPTF
Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.

Applicable solenoid valve
VZ514R-0000
VZ524R-0000
Applicable blanking plate

20

How to Order

VV3Z5-41R—- 05

101

35

V100
SY
SYJ

o
Vo
w
s
Vo
VKF
3
vz
Vs

Stations e 7T

l J'P—/R‘ port

assembly

02 | 2 stations A port side DXT201-15-4A
s : 01 18 thread type
20 | 20 stations C6 | One-touch fitting for @6 Nil Rc
C8 | One-touch fitting for @8 F G
% B7 | One-touch fitting for o1/4 N NPT
Q B9 | One-touch fitting for 85/16 T [NPTF

Note) For more than 9 stations, supply air to both sides of P port and exhaust air from both sides of R port.

SvVC

4-6-35

O

VFN



Series VZ500

For Internal Pilot

Type 20 Manifold: Top Ported

VV3Z5-20- Stations| 1

Grommet (G), (H)

n-Rc 1/8
(A port)

4-Rc 1/4

.. B \ (P, R port)
(Mounting hole) i

_L. —f Mo
2 - B
o o @
| ™
B =\ —|105]
A\ =
M5x0.8
~EL (PE port)
G: 300 mm
H: 600 mm
5 (Lead wire length)
S
% 2 =
%) o u)_
T ] B
w
i o
Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L+ 59 78 97 116 135 154 173 192 | 211 230 | 249 | 268 | 287 | 306 | 325 | 344 | 363 | 382 | 401
L 49 68 87 106 125 144 163 182 201 220 239 258 277 296 315 334 353 372 391
L plug connector (L) M plug connector (M) DIN terminal (D)
71 62
: i
0 o
4 ~
© = (o2}
(2] ; _é ﬁ
— .
s e 3 . 10
rag Pg.7 @—
=300 B B 11| — \ D]
(Lead wire length) Y o| 2 T
Q|9 o
D e s Applicable cable O.D.: 3.5 to 67
_1= <
= s 775
]
Q 85

4-6-36

£

O: With light/surge voltage suppressor

SVC

O

36



37
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ5 00
For Internal Pilot
Type 21 Manifold: Top Ported

VV32Z5-21- Stations |1

Grommet (G), (H)
21.5
8;':;‘; :? 15 o (Die-cast hole) 14
. 1\ T (Mounting hc;le) "d} 3 \”i
©Q T n T i R N —
AE NI AR RCR BTl e R SYJ
® - ) - €5 ’— ] ' \ 4-Rc1/4 VK
P (P R por) —
\ rm‘a*’:ﬁ M5X 0.8
! G: 300 mm (PE port) ——
(Pitch) : VT
Manual override‘P:19| 15 = 6(.)0 = —
(Non-lockirsg) I T ] (Lead wire length) VP
L1 —
VG
i .
SEL S070
X X X VQ
| | o VKF
2 vVQz
I \'¥4
VS
Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ﬂ

L 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
L> 49 68 87 106 | 125 | 144 | 163 | 182 | 201 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

L plug connector (L) M plug connector (M) DIN terminal (D)
81 72[75]
s "D & | ) P @
B4 (j}-] oo : e £
1 5 é R =
i 4
=" _ \ rar TEHH
=300 = £ L
(Lead wire length) 8|5
18\\ o b2 Applicable cable O.D.: 83.5 to 87
2 P 87.5
3 = 95
2

Q [O: With light/surge voltage suppressor

4-6-37

O
5



Series VZ500

For Internal Pilot
Type 40 Manifold: Bottom Ported

VV3Z5-40- Stations|2-01

Grommet (G), (H)
2-055 L
. - r / (Mounting hole) 15
8| =B B r? J% F )
2 T ¢ T 98
4 e kL
512 i & | i @
£ -
o IEd [ 4-Rc1/8
J l [ (P, R port)
/Manual (Pitch), G: 300 mm
override P=18| 15 H: GM
(Non—locki&g)' . (Lead wire length)
L1
0
f f 3
wn
N
n-M5X0.8
(PE port)
n-Rcls
(A port)
O
b
&
7| 1.0 © © ¢k
o) g
- - -
(Pitch —
P=19] 20
Stationsn| 2 4 5 6 7 8 9 10 11 13 14 15 16 17 18 19 20
L 59 78 97 116 135 154 173 192 | 211 230 | 249 | 268 | 287 | 306 | 325 | 344 | 363 | 382 | 401
L. 49 68 87 106 125 144 163 182 201 220 239 258 277 296 315 334 353 372 391
L plug connector (L) M plug connector (M) DIN terminal (D)
4 62(65]
b ol LT ot
o | 5 1 ©
8 ~
E ¥ | ! . [0} ;M é
= :L —% Pg.7 H@k
=300 Sl L o= i)
o
(Lead wire length) §) &
! % 3 Applicable cable O.D.: 3.5 to g7
° < 775
§ 2 85

4-6-38

@

o
5

O: With light/surge voltage suppressor




39
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ5 00

For Internal Pilot
Type 41 Manifold: Bottom Ported

VV3Z5-41- Stations |2-01

Grommet (G), (H)

21.5
2-085.5 (Die-cast hole)
N SR T DU R (Mounting hole) Ml —
0 T o e [ Jo
NG h&%@gp D1af V100
© [ — o F P
n = | [aV)
Jel Bl 414 L1 SY
| R - =
< 7 SYJ
4-Rc 1/4 ——
s SERA (P.Rport VK
Manual override ﬁ‘ ggg mm
p=19 15 (Non-locking) T e
(Lead wire length)
Lz 6
L1
VP
VG
0
13 VP
‘ (5] —
S070
n-M5X0.8 vQ
(PE port) IR
n-Rc' VKF
(A port) ——
/ vQz
g |ew o]
B A < VZ
& L
0 —
& VS
VFN
Stationsn| 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20
L 61 80 99 118 137 156 175 194 | 213 | 232 251 270 | 289 308 | 327 | 346 365 384 | 403
L. 49 68 87 106 | 125 | 144 | 163 | 182 | 201 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391
L plug connector (L) M plug connector (M) DIN terminal (D)
81 72[75|
— {3} i —~——1$ Wai 1 P
N -

Poosss el = .

l IR _’—
i B L g St
=300 - ] il
(Lead wire Iehgth)

Applicable cable O.D.: 3.5 to g7
Q [O: With light/surge voltage suppressor

97
98

87.5
95

MAX.10,

(Lead wire length)

4-6-39

O
5



Series VZ500

For Internal Pilot

Type 41 Manifold: Side Ported

VV3Z5-41- Stations | 1-01

Grommet (G), (H)

2- 955 -
=~ —>2 (Die-cast hole) 14
/(Mounting hole) —— 0
J_ @ T 1T | e 1 I_—- =
L= ] |4 2
I =] g
o n éj o B-—p €3
I 4| D
r~|o 3
|~ o) e - 4-Rc 1/4
' (P. R port)
M5x0.8
} * (PE port)
/Manual (Pitch) G: 300 mm
/ override P=19| 15 H;.600 mm
(Non-locking) (Lead wire length)
L2 6
L1
% %
- 0
8
. A A o)
QO POt
| : i
n-Rc 1/8 P=19| 21
(A port) :

Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 | 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
L2 49 68 87 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

L plug connector (L) M plug connector (M) DIN terminal (D)

81 72
— ¢ &
B € g
5 2 —
WA (o))
"““EEJE L pg.7 T |
=300 1— = ; (l
N j=)) 1
(Lead wire length) 15 2 Applicable cable O.D.: 3.5 to 7
o % 87.5 [
2
2 s 95 |
[
)

4-6-40

Q O: With light/surge voltage suppressor

SVC

O

40



41
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ5 00

For Internal Pilot
Type 41 Manifold: Side Ported

VV3Z5-41- Stations |1-C6, C8

Grommet (G), (H)
4-Rc 1/4
(P, R port) 21.5
14
| — o 2 055 P €3 7g [7 A
;J :;@ J@ J@! ’@ j“( (Mounting hole) &J of m
- (9]
© S ] & SY
0
E g _:JU @ﬁ 7 m@ R —
o ™ i é == =t SYJ
g © O —
>
m= ! ‘ \Msx08 =3 VK
’ (PE port) ©®
QO
o vz
(Lead wire length) ——
VT
Manual override —
(Non-locking) VP
VG
VP
S070
0 —
‘ va
& —
al VKF
P=19 21 | I —
(Pltcrr;)-One-touch fitting VQZ
(A port) R
Applicable cable O.D.: g6, 28 VZ
VS
Stations n[ 2 3 4 5 6 7 8 9 10 [ 11 [ 12 [ 13 [ 14 | 15 [ 16 | 17 | 18 | 19 | 20 |VFN

L 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403 ————
L2 49 68 87 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

L plug connector (L) M plug connector (M) DIN terminal (D)
81 72
& TN [ P 1
O e °O
P
| © o) — s
= 5 4 = 8 4 ==
] % B
=300 ] = i
(Lead wire length) = =
= % T Applicable cable O.D.: 3.5 to 87
_Nys < 87.5
o] 95
©
3
Q O: With light/surge voltage suppressor
4-6-41
% S\NC



Series VZ500

For Internal Pilot
Type 21R Manifold: Top Ported

VV325-21R- Stations |1

Grommet (G), (H)
30.5
Rc 1/8 2-M5X0.8 215
n-Rc eoVgadib
E. | pil
(A port) 15, (External pilot port) J‘H’ o
o | EEERT 2055 1o
& &L C\@ﬂ@ > >}§ > |/ (Mounting hole) 21 o
i T Q<
© SIS g
0 K%‘ )
w0 7
o2 &S s
i o \__4-Rc 1/4
f ik (P, R port)
Ml T\t
e s b"' E:- : (PE port)
" /Manual ' (Pitch) ﬁ gog mm
override P=19 15 : mm
(Non-locking) L Lead wire | h
L2 [ (Lead wire length)
Li

I

Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

L 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403

L2 49 68 87 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

L plug connector (L) M plug connector (M) DIN terminal (D)
81 72
[ 3 @ 1 o
xn.@ i = n@
B tr€> ] EC€ | n:@
M~
g % 5] 8 =
s 3 ’ : . Pg.7 g@
—_—— I
=300 T g
Lead wire length) S| s ol g
(Lead wire leng al e 2 Applicable cable O.D.: 93.5 to 67
o *x
§ < 87.5
o 2 95
®©
3

Q O: With light/surge voltage suppressor

4-6-42 SMC

O



43
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ5 00

For Internal Pilot
Type 41R Manifold: Bottom Ported

VV3Z5-41R- Stations|2-01

Grommet (G), (H)

2-M5X0.8
(External pilot port) 305

2-855 ——

14
(N:ounting hole) } ~ o
11 1 T

P S Y

&
digda polor®

L J @ 4-Rc 1/4

9.5
s
—
[=J]
o

215
]

225
43

56
I >
|

87.5
79.5

oy ‘ . (P. R por)

Manual (Pitch) G 300 mm
override f=191 15 H800 mm
(Non-locking) (Lead wire length) —
L2 6
- VP
VG
n-M5x0.8
(PE port) VP
n-Rc 1/8 S070
(A port) —
vaQ
|
8 ﬂ}@@ VKF
A A s
@ | vQz
T I
P=19| 21
i VZ
(Pitch) =
VS
VFN
Stationsn| 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L: 61 80 | 99 | 118 [ 137 | 156 | 175 | 194 | 213 | 232 | 251 | 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
L 49 | 68 | 87 | 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391
L plug connector (L) M plug connector (M) DIN terminal (D)
8 72 ‘
(& P o /o
xﬂ_@} S-n_ > n@

F O e 10O

~ 2]
o |> e}
% 4 .-
—— rz 1D .
I e [0
=300 " =3 ]
(Lead wire length) 8| & = '
@ 9] = Applicable cable O.D.: 23.5 to 7
E % 875
g = 95
=

Q [O: With light/surge voltage suppressor

4-6-43

O
5



Series VZ500

For Internal Pil

ot

Type 41R Manifold: Side Ported

VV325-41R- Stations|1-01

Grommet (G), (H)
2-M5x08
(External pilot port) 305
2-95.5 211';'?
(Mounting hole)} =~ © 'g
L 11 1 1
] ey
cARGICES %} 4 T e,
8 ' él N o~
w0 @’ B\
~| o T -
|~
\}] -\ g S \
4-Rc 1/4
ranq (P, R port)
Manual (Pitch) G: 300 mm M5x0.8
override P 19| 15 H: 600 m (PE port)
(Non-locking) (Lead wire length)
L2 6
| ]
%o X
0
T [32]
[(s]
J A A i o)
| © 09 Ot
ol
n-Rc 1/8 pP=1g| 21
(A port) (Pitch)

Stationsn| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20
Li 61 80 | 99 | 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 | 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
L. 49 68 | 87 | 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

L plug connector (L) M plug connector (M) DIN terminal (D)

8t 72
) Clan) o
X&- |/ xﬂ.\/’ < D.
s ] —)
M~
2] 3 [e0]
§ 4 = o
RUSE 2 . po.7 TR
' . _— il
- z
=300 =)
Lead wire length) gl & o
(Lea 9 @ é - Applicable cable O.D.: 3.5 to 87
E % 875
3 = 95
[}
=

4-6-44

@

O: With light/surge voltage suppressor

O

:




45
3 Port Solenoid Valve
Rubber Seal, Body Ported/Base Mounted Series VZ5 00

For Internal Pilot
Type 41R Manifold: Side Ported

VV3Z5-41R- Stations|1-C6/C8

Grommet (G), (H)
4-Rc 1/4 305
(P, R port) 21.5
2-M5X0.8 14
B (External pilot port) 1 I
= = =T 2.055 I JoleT T V100
& $| J% J@‘ @ i(Mountinghole) % j : p—
: - pdIEE sY
oo o |d o g s O =
<8 | & o sYJ
s}
Qo9
> >
M5x08 I
pem ey (PEport) 5=
G: 300 mm 88
H: 600 mm
(Lead wire length)
Manual override —
(Non-locking) VP
VG
VP
S070
0
o3
£ | al | va
S @) o —
OHEHD) | oy VKF
P=19| 21 p——
(Pitch)
rlm-COne-touch fitting VQZ
(A port) —
Applicable cable O.D.: 06, 28 VZ
VS
Stationsn| 2 3 | 4 5 6 | 7 8 9 [ 10 | 11 [ 12 [ 13 [ 14 [ 15 | 16 | 17 | 18 | 19 | 20 |VFN

L 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
L2 49 68 87 106 | 125 | 144 | 163 | 182 | 201 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

L plug connector (L) M plug connector (M) DIN terminal (D)
81 72

) e} Fay
| — I@ | — n:@ — I@E

é, == 5 é <
f I 22|
ﬂsguj ;LU i Pg_? i 7[{@]}— |
=300 I z ‘%1',,

(=]

(Lead wire length) / = S

@ ° M Applicable cable O.D.: 3.5 to g7

= < 87.5
z s
I 95
Q
S5

Q [O: With light/surge voltage suppressor

4-6-45

O
5



Series VZ

Made to Order Specifications:

1. Solenoid Valve: Opposite Mounting of Solenoid Assembly

Applicable solenoid valve series
VZ100/300/500

Model no.

74| Dlo —DDDf—D) - X1
vz§DD-DDD]D(—D)—m

Entry is the same as standard products.

2. Solenoid Valve: External Pilot Specifications
@ Applicable for individual use of body ported external pilot type

Applicable solenoid valve series
VZ300/500

Model no.

vzggzn—DDD]D(—D)—xzo

l Entry is the same as standard products.

Specifications

Dimensions: VZ110-0JG-M5-X1
Manual override

' (Non-locking)

of

P N T8 |

o
- | I [Je—
£ T | B .
p N ©
23 11
15

Operating pressure Main pressure —100 kPa to 0.7

0.15t0 0.7

range (MPa) External pilot pressure

Pilot exhaust method Pilot valve individual exhaust

Dimensions
VZ300: 8 mm longer in total length
VZ500: 8 mm longer in total length

Dimensions: VZ312R-JG-M5-X20

4-6-46

72
A Tl
(i
32 Manual override
48.5 (Non-locking)

M5X%0.8
(External pilot port)

')
T 3
I ] 10
Y
80
Ps R &
M R
44 PE port M5 x 0.8

O




	VZ100-300-500  3 Port Solenoid Valve Rubber Seal Series 
	Series Variations
	Precautions
	Series VZ100  3 Port Solenoid Valve Rubber Seal, Body Ported 
	How to Order
	Specifications
	Dimensions
	Manifold Specifications

	Series VZ300  3 Port Solenoid Valve Rubber Seal, Body Ported-Base Mounted 
	How to Order
	Specifications
	Construction
	Dimensions
	Manifold Specifications

	Series VZ500  3 Port Solenoid Valve Rubber Seal, Body Ported-Base Mounted 
	How to Order
	Specifications
	Construction
	Dimensions
	Manifold Specifications

	Made to Order Specifications:


